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QUESTION 1

A network engineer must determine which SSL protocols are enabled on a virtual server named SSLO1.
Which command could the engineer run to see this information?

A. Show ssl stats

B. Show server SSLO1

C. Show vServer SSL0O1

D. Show ssl vServer SSL0O1

Correct Answer: D

QUESTION 2

Which two encryption algorithms are supported on the NetScaler to store the encrypted SSL private key with a
password? (Choose two.)

A. AES
B. RC4
C.DES
D. DES3

Correct Answer: CD

QUESTION 3

Which statement is true about interface link-state on the NetScaler?

A. Interface link-state is controlled by ifconfig in BSD.

B. Interface link-state is dependent on the HAMON setting.

C. Interface link-state CANNOT be brought down from the NetScaler.

D. Interface link-state on both appliances is unaffected by the force failover command.

Correct Answer: C

QUESTION 4

Which of the listed options is a simple Access Control List (ACL) attribute?
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A. VLAN ID

B. Source IP address

C. NetScaler interface

D. Destination IP address

Correct Answer: A

QUESTION 5

A network engineer has enabled USIP and USNIP and set a unique IP address as the source IP using the
proxylP parameter on an INAT policy.

Which is the correct order of precedence for the IP addresses?

A. Unique IP-USIP-MIP-Error

B. USIP-unique IP-USNIP-MIP-Error

C. USIP-Unique IP-MIP-USNIP-Error

D. USIP-USNIP-MIP-Unique IP-Error

Correct Answer: B
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